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QUANTITATIVE TECHNIQUES

OCTOBER 2007

(For those who joined in July 2003 and after)

Time : Three hours Maximum : 100 marks

SECTION A — (4 x 10 = 40 marks)

Answer any FOUR questions.
1. &Gy Qer@ésiu_@arer swarur(iamens Sir.
x+é=3 mg’;gnby+i=-3.
y x
Solve the following equations :

x+i=3 and y+é=—3.
y x
2. (@) (2,2) ovpmod (4,8) erenp I_|G1'T61:ﬂ&36ﬁ auflunrss
Qaedgyd CrTCaT_iq.60 FLOGTUITL DL 6T(LPF)-
(=) @@ CorCsmigen &mle; 2/3 eremmid g
y -iflan Qaul @ —4 erenmyd G@Uden Sigen FoTLT oL
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(a) Find the equation of the straight line passes
through the points (2, 2) and (4, 8). - (8)

(b) Write the equation of the straight line of
gradient 2/3 and which makes negative intercept of 4

units on the y-axis. (5)
3. &Cyp Qar@aslul_(herter eTiysMEE W auflans
HID @rerrd euflens cuanasQsaneus sre.

_x3+4x2+5

(&) - (x2+1)3 .

(<) Y =log(x* -4x® +2x% +10).

Find the first order and the second order

derivatives of the following functions :

_x3+4x2+5

@ (x?+1)?*

(b) Y =log(x* —4x3 +2x> +10).

4. yereflweller wéHwusgicugeng efeur.

Explain the importance of statistics.
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T BIEEEEN oeurmiserée S.D.-g STl '
Wfley @ent_Qeuafl : 0-10 10-20 20-30 30-40 40-50

e @euasT : 25 40 35 60 .. 30

Calculate S.D. from the following data :
CIL 0-10 10-20 20-30 3040 40-50

Frequency: 25 40 35 60 30

6. &Cp Qar@ésuul_Harer efleurmisalledmbe Qumssd
syrefl Hmb @eessrref-ns srar.

X: 50-60 60-70 70-80 . 80-90 90-100 100-110

f: 5 25 45 30 8 7

Find the geometric mean and the Harmonic mean
from the following data :

X: 50-60 60-70 70-80 80-90 90-100° 100-110
f: 5 25 45 30 8 7
7. &pssan.  arhsdldmig  smieo  Gwiaveler
RLOpeys Qapamais s

X: 60 65 40 55 62 66 70 72
CY: 100 120 110 130 125 140 142 150
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Find the Karl Pearson’s coefficient of correlation
from the data given below :
X: 60 65 40 55 62 66 70 72

Y: 100 120 110 130 125 140 142 150

8. (o) umeuste wrmum e eSeuf.

(%) srbert Ggrieuflensulen apety Lwensamer

TPS.
(a) Explain seasonal variation. - ()
(b) Write any three uses of time series. (5)
SECTION B — (3 x 20 = 60 marks)
Answer any THREE questions.
‘ 4 -1 1
9. wefA-aafi sflloussrar. A={-3 1 1
1 1 -1

Find the inverse of the matrix A.
4 -1 1

A=(-3 1 1
1 1 -1
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RO BiREL. SeurisErs@ B auibs (y)an,r_r)uﬁlsv
.CpiGar @ Curésdlearn QUTnISES.
eu@pLtb: 1990 1991 1992 1993 1994 1995 1996 1997

epusd: 80 78 85 .8 90 86 82 92

Fit a straight line trend to the following data by
the method of least squares. .
Year: 1990 1991 1992 1993 1994 1995 1996 1997

Production: 80 78 85 8 90 8 82 92

11. Spssem.  eleuyhselladmbg srid  Dwrevafen

(Sa;rrl’_l_és®a;@6m6ués ST,

erenL : 80-90 90-100 100-110 110-120 120-130¢
puisefan 5 18 35 45 28
araTentlHens : , _
GTeL : 130-140 140-150 150-160 160-170
puisefier 15 8 5 3
eraRTeRil&Hens; :

- From the data given below find the Karl Pearson’s
coefficient of skewness.
Weight : 80-90 90-100 100-110 110-120 120-130

No. of persons : 5 18 35 45 28
Weight : 130-140 140-150 150-160 160-170
No. of persons : 15 8 5 3
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12. Y -ar wdiy 50 erafled X -er wdliennis sram wpmid
X -en wdii 40 erafled Y -6 dllienniés smerr.

X: 26 27 34 33 30 36 32 35 37 38

Y: 43 46 48 55 45 44 52 53 58 56

Estimate X when Y =50 and estimate Y when
X =40 for the following data.

X: 25 27 34 33 30 36 32 35 37 38
Y: 43 46 48 55 45 44 52 53 58 56

13. &pssamL efeurhisers

(91) epeny eupLLd

(=) 4um psmd srrefleaws sansd (.
GU(BL_LD : 1996 1991 1992 1993 1994 1995 1996 1997
epugdl: 50 60 55 62 70 72 75 65

Calculate
(a) three yearly and

(b) 4 yearly moving averages from the following
data.
Year : 1990 1991 1992 1993 1994 1995 1996 1997

Production: 50 60 55 62 70 72 75 65
6 6119/E22
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" EBEER feurns@ssE orevQuir womib Gagfer
G5 QL _arsmer sawsd(Hs.
2005 2006
@umaper
: e oamey ofleve ey

A 20 40 25 42
B 15 30 20 28
C 22 25 25 20
D 13 30 15 35
E 12 35 10 40

From the data given below compute Laspeyre’s
and Fisher’s index numbers.

2005 2006
Commodity ) o . .
' Price Quantity Price Quantity
A 20 40 25 42
B 15 30 20 28
C 22 25 25 20
D 13 30 15 35
E 12 35 10 40
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